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18 Liam says,
“If you divide any multiple of 10 by 2 the answer always ends in 5"

Is he correct?

Write down a calculation to support your answer.
[1 mark]
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Diaries are sold in boxes of 12
Pencils are sold in boxes of 10
Rulers are sold in boxes of 6

Ateacher wants to buy the same number of diaries, pencils and rulers.

Work out the smallest number of boxes of each item he could buy.

[3 marks]
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Three whole numbers have a total of 100

New question

The second number is ten times the third number.

The first number is a multiple of 15

Work out the three numbers.
[3 marks]

Answer . .




